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Test Name : COMMERCE

Time : 90 minutes Maximum * 100 marks

Answer ALL questions.

Each question carries ONE mark.

SECTION A
1. i’ summarized record of transactions related to individuals or things is called
dll
D535 Bor SYHOL 5ow0Hod SPITe FToSSATEID)
(a) Account | (b)  Voucher
grar S5°56
(c) dJournal (d) Tral balance
T @O5ET
2.  Financial accounting looks for the interests of
DB e5%8 §°8% es88 Keaso (Accounting) S58Kc3oBoRs
(a) Investors (b)  Employees
vepdote &&"gen
(c) Suppliers (d)  Both investors and suppliers
nEPoT oEEen WepGOrEe MBANEITTEE e

3.  Computation of income as per the law and filling the tax return and pay tax is
DRS00 etrdl 2080 Wbain Hiy) DdoHio

(a) Taxation (b)  Cost control procedure
0Y) D501 Adaoes |HEaD
(c) Audit (d) Accounting
esdeS ' @3 otdoh

4.  Financial accounting considers the transactions
&85 Hea& F°go SBXS” SE™D Sgvforen
(@) In terms of money
G 8T e
(b) importance from business point of view
Tm0 | DPR0ggs 5O
(c) Not it terms of money
iS50 5009

(d) All of the above
'Eﬁrmiaﬁ.m

3
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- F Which i1s a Nominal account?
TR B grar Deds® D87

(a) Goodwill account (b) Machinery account
&S groe dooBEaLe o

(¢) Account of the supplier (d) None of the above
REHO® TREIRD e P 2D

6. The reduction in the value of the fixed assets which can arise due to time

factor is

50 (DgPH0 Dok oY ’Em*i_:; DO&D BI) DB

(a) Discount (b) Depreciation
G 05 HBEKS

(¢c) Reduction (d) None of the above
BRoJ) RIS

7.  What is the purpose of double entry bookkeeping?
cend doied 208 SDof @y, aB¥s0

(a) To ensure that every transaction will be posted on the debit and credit
side with the same amount in at least two accounts

Both grEred” a8 Trso GO Bk BdS P 2y Daoe
(b) To prepare books of prime entry accurately
P57 (558 Hustes” Pdytomr JBErotoe
(¢) To record the cash iri and out of business transactions
TS HDIFrOS” HNETE e AT

(d) To avoid careless mistakes
DYE, 50 MBI+ TPRCLE 0

8., The term ‘fund’ 1s used in funds flow statement means
DELO (ST DIBES” SR He|208 DeSorr SBNB oI

(a) cash
oo

(b) current assets
(DB esRuen

(c) . current liabilities
BB ardshen (espen)

(d) current assets minus current liabilities
(PAD &ReD 00D e VTR0

(Test No. 31) 4
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The oldest from of business organization is

DOHI Ty Do 88

(a) Partnership (b)  Sole proprietorship
errguso DSRS0 :né:-éi

(¢) Joint stock company (d) Co—operative undertaking
2ro0e) AME Kobd sy SIS

A partnership firm cannot raise funds by

griiagRug Hog DaHBD e SMEYn aGrRo

(a)

(c)

Bank loan (b) Partner's loan
2Pg0tHd ) G Rgg ey
Debentures (d) Partner’s capital
=aloinlet) gflangiog Denad

"-fu?hi_c!l _{:rf' the following financial statements explains changes in the assets and
liabilities that may have taken place between two dates?

00ta) DDG TO°P DO IHED B-whpe Ao He 1208 HEK SRTALTS N A

22800050

(a) Position statement (b)  funds statements
FBi0 DI8Y Do IHHE

(¢) Income statement (d) none of these
esoral OH8E BRSNS

A bill of exchange is an acknowledgement of
V0L Dedo G (8ol TeldS® B8 B3t DB, HHE0

(a) Debt (b) Goods received
&2y PO ol

(c) Credit extended : (d) All the above
Bée 9580t P ek

Joint venture is in the nature of a

gro0e) Soob k), Jggrdo

(a) Real account (b) Personal account
THDE groe SRS groe

(c) - Nominal account (d) None of them
TR yror D 2 5%

9 | (Test No. 31)
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14. Fixed capital can be financed by

5?'5 SarredsHo He Do DhoEse Bnﬁﬁ;ﬁ:}u}
(a) Issue of shares

Tere a0

(b) Issue of debentures
3BowY erb

(c) Loan from special industrial finance institutions
(SBgS e85 BEE DBDoHen

(d) All the above
] Eﬂﬂ]ﬂlnﬁ:l!"’

15. Working capital requirements can be raised by
DT DarrediNo AdvEde Dl TR

(a) Issue of shares and debentures (b)  Public deposits

Treren Hobain GBodt) &0 e DEFren (Garden)
{¢) Loans from commercial banks (d) Re-investment of earnings
Teevesg egothe HeTen ey S8R ey 206

16. Bonus shares means shares issued to

B5on T a0 JH88 DAl
(a) Debenture holders
dEﬂL‘:{ﬁﬁ ;’Jﬁgﬁ]
(b) Workers in lieu of their share in profit
erdier alodd sﬁﬁdﬁm AT E)
(c} Existing share holders
[BR08 TrerTrOn5)
(d) None of these
P 2568 5o

17. According to which rule ‘debit’ what comes in credit what goes out?
53y T30 BDSTR0, SATTSD B Mo J Koro g Ss 808 groT

SBAS oG

(a)- Real account (b) Personal account
TN e | ::ﬁ_ﬁnﬁﬁ 2TET

(¢) Nominal account (d) All the above
a0 DT ST P edydioe

(Test No. 31) 6
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18. Which of the following is not a cash flow
e 1508 ol S° B0 KD |wraore DBAfonE?

(a) Purchase of fixed assets (b) Sale of fixed asset
&TE 5o e gmﬁ_:; @350

(¢) Issue of debentures (d) Cash from business operations
GBod) erB T TR0 T DN

19. A profit on the sale of furniture of a club will be taken to
2.8 KD @00%), 300 diFaio oger 5800 ertio BR a0t B bEE?

(a) ecash account (b) Receipis and payments account
AN groe SaATes DYoo o

(c) Income and expenditure account (d) all the above
Sl b i TSRS 2 99 52

20. Entrance fee are generally
|92% Hodvo rordcon

(a) Capitalized (b) Taken as income
SATre PaEtn Daiuduth oo SONES 0D
(c) Treated as a liability (d) none of them
P SBNBoDESE LIS

21. Statement of affairs is prepared for ascertaining

DT> DDAERL e 1208 T3S BD BrdStHHon?

(a) Finanecial position of the business
TS e85 &ﬂ

(b) Trading profit and loss account
ﬁﬂﬂ gy ~RA) FTE

(c) Canpital of the owner
ciozs R Sarredho

(dy All the above
_?E' Hﬂnlm

7 (Test No. 31)
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29 Any expenses that gives benefit for a period of less than twelve months is

called
VBT 6 TR0t oo LoB BKD 5B DKID (BB A7
(a) Capital expenses (b Revenue expense
AT :}5:‘-‘.'5.:& escyealio ':35Eﬁ.‘lﬂ-
(¢} Revenue capital (dy Deferred expense
e3650%) DT DooBdd H5ako

93 An amount of Re.200 received from Mr. “P” but credited to Mr. “Q" would

affect
SEEn200 HKA 'Phood ﬁ-ﬂa;&a 'R E&eﬁ DO DOD Harddo Elcﬁ:'é 0T D
(a) Accounts of P and Q (b) Only cash account
P& Q graren it groe
(c) Only P's account (d}) Only'Q s account
ES5e0 ‘Pyroe Bdeo 'Q proe

24. Working capital is a measure of
DEGTEe Darreddo B0 SedurnonT SEAEH0DE8?

(a) Liquidity (b) Profitability
S55850 (D5ded) Dupalapgestits

() Consistency (d) None of them
LAY P 2D 57

25. For a price reduction, the demand for inferior goods

58 BRODIZPE 170 DD (BE)H 85°08 BoBH) GBws), Aos

(a) Increase due to substitution effect
[PEPEUT D [DETH0 DoR 8

(b) Increase due to income effect
CATCE) [RETFRI0 ReR R

(¢) Increase both due to substitution of income elfect
[DErghIyoi et [2ETD0 DR DEIV

(d) Decrease due to both substitution and income
RErgRImaio S08ain esordio K0 BM

(Test No. 31) B
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26. The income elasticity of demand in high—
esf% &3rol esorabio P& A8 0e20 Dotk

(a) Tax rates should be decreased (b) Tax rates should be increased

51060 BROVHBH HR9)0e0 DOBIBH
(c) Tax should not be imposed (d) None of the above
D)) HBOVETELSS 2 D5

27. When lthe current income of the government is less than its current
expenditure it 1s known as

DELBg0 DB estmaio Hgdhro Eodd BE) ST &) EE&:@

(a) DBudget deficit (b) Fiscal deficit
wGed &%) e85 Sew

(c) Revenue deficit (d) Primary deficit
orad Se D08 & e

28. When PE=c we call it
I3pes PE== &o8 ord) 209500 J00ero?

(a) Relatively Elastic (b) Perfectly inelastic
F8E TEtoo 8P~ earsS 850

() Perfectly elastic (d) - Unit elastic
28778 (Po-y 55 o) SRS T8 BEg0

29. Which areas covered by the subjeect managerial economics
BBAS IETAE) e 1308 woTe SB8Me3oBoR
(a) Operational issues
SPOPERUER DRIDIe
(bY Enwvironmental issues
PO EEEI0 0T

(¢) Operational and environmental issues
s'ﬁ-'sibﬁra aa8ain :ﬁcréﬁﬁea 20T e

(d) None

RIS
30. Coffee and tea are the —— F— poods

s 08051 o) —————————— BRuHeorr V8,088

(a) Relative (b) Complementary
PoR08B (Je5k) DTN

(c) Substitute (d) None
RES26 (Substitute) Dho5e

) | (Test No. 31)
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SECTION B

31. What is a Repo rate’?
B2* (Repo) Gea e 2207

(a) It is a rate at which RBI sell government securities to banks
Be:bg 275050 H:‘:E@meg ':aﬁréﬁeﬂe}m 2I"0500R0 ﬂﬂﬁl&&ﬂm

(b) It is a rate at which banks borrow rupees from RBI

| BesBg 20D H00D 2rgEEen BHKD BYP Bed

(¢) Tt is rate at which RBI allows small loans in the market
2070),656° 93 Boeren D RBI @080 Bew

(d) None of these
s

39  Which of Lthe following cannot be called as a debt instrument as referred in
financial transactions?

es8% rTrdde S0k He 1508 TeIS” DD e dregioron SBKHoDHE?

(a) Certificate of deposits (b} Bonds
$BYRES e e 2°0CE)

(¢) Stocks (dy Commercial papers
5y TEIEy S|Tren

33 The maximum amount of the total revenue earned by the government of India
comes form

GrOBBE0 @), [HFLB50 JuBo eTraoS” KBHorm 8D ok Hes.

(n) Income tax (b) Excise duty
eameai0 DAY I2)B S55Y

(c) Customs duty (d) Value added tax
5‘;35:;3 5 Ded emds 55y (Vat)

14. Which was the first Indian Bank to introduced credit card?
BAES 5255 nSBe (FIDGFD a6 ergotd 87

(a) State Bank of India (b) Central Bank of India
R0 2rgoth esh godair Dojwd wrge ey FoGAlr
(¢) Union Bank of India (d) ICICI
aforrDae ergos esy Fokair MDD
(Test No. 31) 10
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Capital market regulator is
BOT 0L B90),65 daose DakwTrd

(a) RBI (b) IRDA
(c) NSE (d) SEBI

Which is the first Indian company to be listed in NASDAQ?
70 GS(NASDAQ) H0t5H OF @anid 3 2rdh Lohd D87

(a) Reliance (by TCS
Boas) 3205

(¢) HCL - (d) Infosys
ronaiS AR

Which of the following is known as plastic money?
&6 308 736" BOD S Hod™ TBAFoDEK

(a) Bearer cheques (b) Credit cards
00 D), Bdes 58

(¢} Demand drafts (d)  Gift cheques
cGarol (7R AR DK,

Which sister organisation of the world Bank provides long term loans at zero

interest to the poorest developing countries

50 50> Bk, 6 V0P ©P5)8 Dototwd) VEBTL £6° (Zero) HE6° By

s*@¥ o PeoSedio §%m:ﬁnﬂ

(a) Asian development Bank
esoaise E:E;'J:.‘}JE 2T'golH

b) IMF
2.005.05

(¢) International development association
wuﬁ@cﬁ& -E?Eﬂlihn]g STe M ble

(d) International {inance corporation
©oBTHEL PO 560G

Who is known as the ‘Faiher of economics?
@85 ) Hho(Ger 580 SO ot

(a) Adam smith (b) Marshall
BP0 ﬁ}e% :JJ‘EJ
() J.M Keynes {d) Pareto
E.Eﬁjﬁlgé.n | E%5"
11
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40. The Bank of Calcutta, Bank of Bombay and Bank of Madras were merged 1n
1921 to from _
B 0% e Koo, wryot ¢ §%B HBd W &f HEH 1921 &° 2930
TG0 0P80 SPER) g0
{(n) Reserve Bank of India (b) Imperial Bank of India
Be3bg 2500 &3 OGO Q008005 Apielch esp odair
(c) Bank of India (d) Union Bank of India
E:F“Epg.: &3y QoG ASAT=DAS 2050 esl) modair
41. The twellth ‘Five Year Plan’ of India is for the five years ranging from
S0LED HodDY [Heds e 308 D@ ot Jone seerdE BolH8
(a) 2009-2014 (bhYy 2008-13
(c) 2007-2012 (d) 2012-17
42. Interest rate risk is a type of
3G Beare earaioo (8R))z¥ BED
(a) Credit risk (by Market risk
B&e B9, 53°8),¢5 B);
(¢) Operational risk (d) All the above
Slepiinlelac EEJ_;_T » eyl
43. A decreasing current ratio indicates
| BB 190G D8 (Current ratio)Bo0 Jrduo8?
(a) A stable hquidity (b)Y An increasing liquidity
28 |B958s0 DEOBOR) [BDB50
(c) A strained liquidity (d) None of these
ReoBEE |WHsEco(strained) P D 20 5o
44. What does devaluation of a currency mean
£33y @Bk, Hend BRow) @odd D207
(a) Decrease in the internal value of money
©woBiH dayy dend” Bod
(b} Deerease in the external value of money
emacienny Dends® BRoD)
(¢) Decrease both in the external and internal values of money
SoBEH —2riry Sy Dend” BRoY
(d) Increase both in the external and internal values of money
OBLS eIy o)) DeNHS” VoD
(Test No. 31) 12
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REI generally reviews the monetary policy for every
Fortesor RBI d9) 3oeH (&g do70mR) HnEuod

(a) Three months {(h) Six months
AT eess NI Y b

(¢) . Nine months (d) Ten months
E‘méﬂ Dee) 28 deet)

The Reserve Bank of India (RBI)was nationalized on
eS8 Bestg ergod O BoneS” erdaid DIHT?

(a) 1949 (b) 1955
(c) 1969 . (d) 1980

22nd and current governor of Reserve Bank of India
grEth Bestlyg 2mgo5d GBE), 22 D B (BB KHYB IHEH7?

(a) Manmohan singh (b) C.Rangarajan
200 ?.s.'l*é;’rS f.:c:-ﬁ n.SoNoreEn

(c) Bimal Jalan (d) D.Subbarao
D08 ezerd &, S0eTHTD)

In terms of economics the recession occurring two types with a small gap in

between is know as

egFgo Hot Bod agre 578 20°005” R GE HD0H0 JB0D BGyHby
(a) Double inflation

Eas |5S'genmo
(b) Deflation
a%55
(¢} Deep Recession
SHBrode

(d) Double dip recession

3¢do) B Drrotsso (LS AIBHAS)

Basel committee on banking supervision is also popularly known as

wgofofi Bisdim STUS Ddabvovwdd BIS K Bawyor 6% dore

9 HooeTeEo

(a) Thomas ecook committee
00 X8 Eaned

(b) Banking regulation committee
ero3oh SUEIEea E2ye8

(¢) Talwar committee
Hern ) 2068

(d) - Banks for international settlements committee

2550 ST ewobTdah $82m,8 Y2uel

13 | (Test No. 31)
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50. Foreign trade policy in India is announced by the
B8 Tredesg DGO BrEHBEOS” (HEBOBIT
(a) Reserve Bank of India (b)Y Ministry of commerce
o Bestiyg oS Teedesg Soo| B )
(¢) FEDAI (d) Ministry of finance
FEDAI €385 Doo|BBg T
51. Lending to self help groups by banks 1s known as
ersothen Hgaio HHFCAH SofrreH ad) e 5558 JHoD SBREI0DESE?
(a) Non priority sector (b) Priority sector
Ergest B2 Soifo ErprRrg Horfo
(¢) Commercial sector (d) Corporate sector
Tedasg Sorfo 55°0¢5 Soio
52. The NAV of mutual fund
5077515056 Dok @By, NAV
(a) Is always constant
JeRde Q8o
(b) Keeps going up at steady rate
1500 BR0AES” DS
(¢) Fluctuates with market price movement
2970),85 $5e R0 DB
{(d) Cannot go down at all
B50 5208
53. Zero balance account is generally allowed to be opened for
RORTT) RoBLBN0 YT G0N JH88 BBDEL?
(a) Salaries class (b) Business man
&8yl Soroh TSRO
(¢) Foreign customers (d) Senior citizens
28 EHHB % NOADHE e
54. 10 Rupeec notes contain the signature of
1087150 D JD8 BodEo éotHn?
(a) [inance secretary (b) Chairman of state bank of India
DS 578538 PrEBOE0 RES L5 PRHS
(¢) Gaovernor of RBI (d) Finance minister
RBI &858 (ﬁ:ﬁﬁdﬁj HQE a0
(Test No. 31) 14
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CBS used in banking operations, what is the full form of C
280l seEsEerare Sot &53@r Rod CBS &° C eduss

(a) Credit (b) Continues
. BGe Koeddoege
(c) Complete (d) Core
' §n§e5 §%6

Which one the fﬂllﬂwing date signal the RBI's long term outlook on interest
rates

&2 808 TS g Bep 98 RBI @Bws), 8Y5dE 25972

(a) Repo rate (b) Reserve repo rate
0506 8254y B¢ Bew

(c) Bank rate (d) CRR
23508 Bead 0.5 esh

RTGS stands for

RTGS eszore

(a) Real time gross settlements (b}  Reduced time gross settlements
Baid B R Deddoed) LGN Sa0 e 0e3d 2ooedy

(c) Relative time gross settlements (d) Real total gross settlements
8830 B R 23S Doody Bad 5% rh e3S300ed)

The full form of ULIP

ULIP £ 58 Eﬂgﬂ

(a) Umversal life investment plan (b) Uniform linked insurance plan
AR B9 VIZI0L v Al P Ho8E adIrBS) v

(¢) Universal loan investment plan (d) Unit linked insurance plan
AriS E°% By e 020705 AoNE BRPBY oo

Which of the following is not a banking or finance related term?
&4 308 3°e36° 28 ergefoll Boe Para) HowoBodHE S

(a) Credit Wrap (b) EMI
B @b HobSoo
(c) Held to maturity (d) Diffusion
e JodorGed AIrsam

;t}i'u"hiﬂ:h one ol the following will setup core banking infrastructure for rural |
anks

&s 1508 57" 2B oD oo eSSEag 5% argodoR STDE BEeaen
Edyoiar0

(a) RBI (by SIDBI
e30.9.9 R:rdg
(c) IBA (d) NABARD
.20 mt&g
15 | | (Test No. 31)
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SECTION C
61. An important feature of a job order cost system is that each job
e 98B DY) BHRS” I 2HH SRy offeo
(a) Must be similar to prevision jobs completed
200EE F°6 D JobH Sdrrdone eocd
(b)Y Has its own distinguishing characteristics
(98 ofsren &oGd
(¢) Must be completed before a new job 1s accepted
§% o8 $i08RS%Y T8 Bard
(d) Consists of one unit of output
&8 2.8 0I"De 608208
62. Which of the following is correct? Job order process cost
e e38b |PFRK BowoBod & 1808 TS D8 53987
(a) Work in process account several one for each process
58 |05 DK D) ~as Praned docom
(b) Work in process account one
28 S50),~an - a0 IS 0
(¢) Work in process account one [or each process
28),5), DN 2.87),¥), 55)~ad~@0R
(d) Work in process aceount several one
&R 5B ~ao-|FrRcen
63. Which of the following factors would suggest a switch to activity —based
costing?
55 808 HaHdd worod® 98 2 BUE RO P HIrd0BIR?
(a) Product lines similar in volume and manufacturing complexity .
&8 gé‘p‘!.’:v 5080500 $857es0 228 BAS® GR) D) —R0IE
(b) Overhead costs constitute a significance portion of total costs
E:J.]ﬁn :‘ch:rcﬁ:hoeﬁﬁ Jﬁ}b?:ﬁ PSS E.-:ﬁﬁ':q_‘_'ﬁ :Jaﬂi‘i.}:::- B0
(¢) The manufacturing process has been stable
Ha10 (D80 Yore &S
(d) Production managers use data provided by the existing system
a8 Do) 0588 i) SB8 T ©olH Ger eS@rRoaduten
(Test No. 31) 16
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B65.

66.
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The relevant range of activity refers to the

StsSrerare Sowoft HBE e (093085 3ok @b J§2e3)

(a) Geographical areas where the company plans to operate
K0 wd Stssrerdren DEgres iR 98 |2 omren

(b)Y Activity level where all costs are curvilinear
SUSTerRre Rra el POy JSO 0¥

(¢) Levels of activity over which the company expects to operate
EoDR &6r00%0 TrDERD) JE),D stEerdren He

(d) Level of activity where all costs are constant
E‘C‘JaE‘EJ‘ﬂHEJ .-‘%-n.n @8, & en) Poyen Eﬁu

Product costs are also called

SRoHsaio (&)@ Hyoio)Ee 1508 diform Erae LET 08

(a) Direct costs
Lﬁéﬁ I:-écti}m
(c) Inventorial costs

ansoeS Band 5*)

P'rime costs
(S5 Hgafoo (R 5°R)
Capitalisable costs

SDeBeansd R

Both direct materials and indirect maternals are classified as
Lﬁéﬁfnﬂuﬁu :ﬁﬁﬂimégﬂuﬁae% Cocotdd e |Sod déormm ﬁﬁﬁﬂu&ﬁﬁa

(a) Raw materials
B0 ﬁmgﬂm

(c) Merchandise inventory
20008 BudotB

Manufacturing overhead

mm%anﬁ 558 1rE

Non—current assets

T 0-E008) ey

The work of faclory employees that can be physically associated with
converting raw material into finished goods 1s classified as

P5¥8 &5yOw oY), 5D F8sorr SwdSorgedy Hair8 HRyHeorr BB) TOR

1Bo8 D&o/ HPEBoBHBIYH

(a) Manufacturing overheads
Hoird L362rE

(c)  Indirect labour
S6°% @S0

Indirect materials

55 oe3Baiady

Direct labour

(S, (#:50

(Test No. 31)
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68. Which one of the following would not be classified as manufacturing overhead?
&5 1808 Tr3S” BOD SrrugEyBofl 4356 b 905B0vErEss

(a) Indirect labour (b) Direct materials
SE°E, 5% 038006,

(¢) Insurance on factory building (d) Indirect materials
Koy gioTre P 56°8 20eIBasrdy

69. In manufacturing a product, prime costs are
2.8 53 &BBS” D08 B (Prime costs) Ao
(a) Raw materials and manufacturing overhead

D06 e Bty VRS q*ﬁgﬂnﬁ s5bwrE

(b) Indirect materials and manufacturing overhead
967 2063800y So8ckn BuviuTy 8y8oR L5608

(c) Indirect labour and manufacturing overhead
567, (50 S0Bak BurHrseEBoR 856 W&

(d) Direct materials and direct labour
(BB 2638y DB (HBY (#:5

70. A manufacturing process requires small amounts of glue. The glue used in the
process 1s classified as

2.8 B0X8 (HBD Do &BBrRod BHKHD D deone HHEBoBHHH)

(a) A prime cost (b} An indirect material
500K 55°% Joedbahd)

(c) A direct material (d) Miscellaneous expense
5855 JoedBaidy DDE DENE

71.  Which of the following is not a manufacturing cost category?
Se 308 573S° BDD SiogrE)BoR By SBKSoDBI0?

(a) Cost of poods sold (b) Direct materials
DN DRRHe PN @é&iﬁ)ﬁﬁﬂﬁ

(¢) Direct labour (d) Manufacturing overhead
PBgS, (30 D R0gpesyBoh 56 W&

72. Lubricants, used irregularly in a production process, are classified as
ad)® H20HS° el 5ArRod Kodden (erEBod)? O dgom HBEBoBEY)

(a) Miscellaneous expense (b) Direct materials
DD PN (DX DoedBatiaed
(c) Indirect materials (d) Immaterial items
56° edBasey - BE00g)0 B2 H) woTen
(Test No. 31) 18

www.eenadupratibha.net



73.

4.

79.

76.
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Which of the following is not another name for the term manufacturing
overhead

S0 1508 TE" BroRuge8)8oR L563rED Ko 598%5 D Hawed?

(a) Factory overhead (b) Pervasive costs
S5l 85628 56T ) (REINS)

(c) Burden (d) Indirect manufacturing costs
250 SE°Y B0™i95 $8y80R 8

Which one of the following costs would not be include in inventory

&0 1508 Sgaired” Ky BDD 3030BS° BIHK

(a) Period costs (b) Prime costs
S*@0 U [ZPPA0E P80

(c) Conversion costs (d) = Indirect labour costs
S8)& P S5 S0s )

Prime costs of a company are$S 3,000,000, manufacturing overhead is$
1,500,000 and direct labour is $ 750,000 . What is the amount of direct
materials

28 S0 abody @Y B5afo § 30,00,000 &8S Ssatro $1,500,000 58k

(B85 5°8y8 Ha0 7,50,000 Bo030 6k 0e3600S Jndo Jos?

(a) & 1,500,000

(b) § 750,000

(¢} $2,250,000

(d) Cannot be determined from the information provided

2D VAarTedo Lo :ngnnéﬁi:m

Sales commissions are classified as

eiyster E2030 &4 808 Do HHEBoBBRN

(a) Prime costs (b) Period costs
2PP0E DAl 5*e0 PLI

() Product costs (d) Indirect labour
S Dgafoo S6°8 5°6;¥ 5o

19 Test No. 31
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77. Product costs consists of
4§ Hoho Dot AWE G

(a) Conversion costs and unexpried expenses
57°8)& Hraf0 HoBakw 5eSHHE SO Hgabo

(b) Prime costs and manufacturting overhead
PRER0E S50500 HoBasx ::r:s:agguiﬁnﬁ £50wrE

(¢) Selling and administrative expenses
w0 585 HB0D PEY)E

(d)y Period costs
sPe0 PEN

78. The double entry required to write off a specific bad bebt 1s

Eand Jojees® 2.8 283 "0 i) SATOE
(a) Debit sales, credit trade debtor
2o eayse,Bae B6 Gerd

(b) Debit profit and loss, credit trade debtor
2065 ereidapen, BAS P& Gerd

(¢) Debit trade debtor, credit profit and loss
&0 |BIE Gerd @, BGe ergiaaren

(d) Debit profit and loss, credit provision for bad debts
BOS ergdey, B o0 2SO DT

79. An ordinary share dividend 15
APl TeTe GI00E)

(a) Part of the company profit used to reward the share holders for their
investment

T e haﬁmﬁiﬁ EoDd ergre 200d 30 [HEJe0

(b) Interest money lent to the company by its shareholders

Termres SondE adYd BpD QS G
(¢) An expence of running the compay
sond YgTrer §TE5 ®od B
(d) The directors, remuneration
@858 2667550
(Test i"ﬁTﬂ. 31) 20

www.eenadupratibha.net



www.eenadupratibha.net

80. Which of the following items 1s a direct cost?
Fe 1208 TelS” 28 5‘3@5{ ﬁﬁtﬂm

81.

82.

(a)

(b)

(c)

(d)

‘The rent of the factory in which products are made

D) B30 SoyO) @0

The wages of the production supervisor

&8H DHEPDEDHD DBHo

A royalty paid to the holder of a patent after each item 1s produced
38 HD &8 DALIYHE TE), TEHH 3D TPk

The cost of the glue used to attach lables to the products

50 P ©0dod Bandy B S5a500

The main reason for a company preparing a cash flow statement 1s
S0 DA [@Harsr JDBE HATE DAWS” J0y)E B0

(a)

(b)

(c)

(d)

To comply with legal requirements
nng:m 885 R0MIE0NT

To show the financial position of the company at the end of period
SR sroduodd Sod EEE %ﬁ GISLTRLS

To show the profit or loss of the company for the period

;:JQQE@:JE SPHAPORN DI D0

To show, in a standard format, the sources and uses of cash during the
period .

DeRomedY DeogedS” HHEL Barreren Bk &S@0 28 JGH sTerRE
SULISARER

The current ratio is an indicator of which following characteristics of an
organization?

R0 @Bk, K00t DG F¢ (808 T7eIS” BAD AT D0WIR.

(a)

(c)

The current level of profitability (b) The future level of profitability

Bro ergrmrais a;@ e,':i:':-‘:;ﬁﬁ e ratol E;ﬂ
The investment potenital (d) The hiquidity in the short term
DeRDHG FDoZso ResTO (5358 DD

21 - (Test No. 31)
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83. A limited company is under a legal duty to disclose information to parties
external to the company. To which of the following groups does this
requirements mainly apply

28 QBE Kb ek st achd Sfed SArdto ad) sy KD &

1208 T3S D97
(a) Banks (b) Customers
S (eLeSL DRATFATEIED
(¢) Shareholders (d) Suppliers
TrerTrdoed AOPE rdoe)

84. A group of companies must prepare consolidates acecounts under which of the
following situations?

&s 1308 Ichads SEYMeS® w¥ Sobde Siwerabo JEgHs ©T 0y BAT
Hoted

(a) A parent company has one or more subsidiary companies
2.8 28085 5008 el BY 25,5 38)E0 Yobben adyipth

. (b) When a parent company has overseas subsidiaries
2.5 V30e5 LodE DdTeS” Sadlar aRyHpdh

{c} When a parent company trades {rom the some address as its subsidiaries
200 ¥onhi Hobain 2Baeds” ﬁﬂ‘}dﬂﬂ:} Howbhew ol dtoarsrd :iggn

AR RPEL

(d) When a company has a participating interest in another associated
COIMpeany

28 EODDEE’S LoDHE® 6D 58 APy

85. ‘A’ promises to obtain for ‘B’ an employment in public service and ‘B’ promises
to pay Rs.1,000 to *A', the agreement between ‘A’ and ‘B’.

‘A’ 2.8 Trrido o0 ‘B’ £ 598 J85Rudo &80 a5jpe8 Rs.1,000 HEn5 e

‘AB’ 50055 2530850

(a) Islegal and proper
PBaLHE DoBdi :.‘}Eangn

(b) Can be enforced at the instance of ‘B’
CBRIR55 o8 edoen DdbBh

(¢) Is void agreement
DOD 2, h08H

(d)  None of the above
% Hbswess

(Test No. 31) 29
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86. Insuranceisa

2T &8

(a) Contingent contract
SoeSokoel SPoler)

(b) Wapgering contract
DABoA sPoEr

(¢) Contract of indemnity
So|tTE &5 RoBNY

(d) Contract of puarantee as per Indian evidence Act, 1872 C
R0EADS DB B0, 1872C (B5°0 SPors ed mibod

87. Which of the following is NOT one of the three levels of performance of a
contract

&0 1508 T3S D Franed” 28 o SadKHsE)?
(a) Complete or strict performance

ROT Y D& EBIAN I0dd
(b) Technical performance
AOSHE DK
(¢) Substantial performance
Drsdst SEAD SO

(d) Interior performance or material breach
0Bt SV BY DH0DH oo b

88. Right to property is a legal right mentioned in which article of the Indian

constitution

grEt oergoo &S° J wfEEs oo &I L), DeTHE?
(a) 332 (b) 339A

(c) 230D (d) 330 A

89. According to the deflinition of “Week” under the Act it is a period of 7 davs
beginning at midnight on

Dey |BSto To @R T Bre Steon S8R

(a) Sunday (b) Monday
esQardo b alels!
(c) Saturday (d) I'riday
i videls) w|5Trdo
23 | (Test No. 31)
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90. Obligations of workers under the factories Act 1947 was discussed 1n section
goyrd B 1947 (S5°8o SBe grighenss 5ol NEDE® BB oIwEH
(a) T8 (h) 101
(c) 111 (dy 99
91, The sale of goods Act, 1930 applies to the whole of India except
S ap &) 55, 1930 grdd Do ddo 6&° estoen Eﬂiﬂéﬁﬁ%}lﬂg Ho 1208 TS
oOné Slslemnlal
(a) Jammu and Kashmr (b) Dadra and Nagar Haveli
ey MuBosiw 5785 e Ha8ain oAb A
(¢} Goa, Daman and Diu (d) All the above
Rioe radom SuBai ooy  edols?
92. Service costing is also known as?
2070 sTRofiRy Hs DEore KrE SIS
(a) Output (b) - Operating
e ta0ed DOPTED
(¢) Operation (d} Continuous process
95050 DEOBY 3D
93. The term ‘partnership’ has been defined under
BRRS050 @ B0 DEDODN DS 28
(a) Section 3 (h) Section 4
WES 3 ES 4
() Section 5 (d) Section 6
1::55 5] ‘;::—55 6
94. A contract with or by a minor 1s a
HHE" Sor DD TR0 2:)0EH0
(a) Valid contract
DOD eyodo
(b) Void contract
D00 2050
(c) ~ Voidable contract
WY 2GR W00
(d) Voidable at the option of either party
RDTOS” DB JodE DHD DYWER 2)odo
(Test No. 31) 24
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Promissory Note must be properly stamped according to the provisions of the
PR0R0 Shead BSBALN Aoy BB BDoTd BB dolsd BD ooty et

(a)

(c)

Indian Stamp Act,1899 (b) Negotible instrument Act ,1881
0GR o) Vo 1899 AR a20d adiyArots deo 1881
Indian contract Act ,1872 (d) All of the above

0800 SPorE Higo 1872 D @i

Which of the fellowing statement is correct
e 508 DEREHSE" D8 A8

(a)

(b)

(c)

(d)

Real GDP is the total market value of the final goods and services
produced in America for sale in a year valued in the prices of 1992

TR GDPR 1992 §de (95700 856 &)d DHahads Bo8 B hbde
ROT Y D305 Dendr IBABoDSE

Your buying stock in the stock market is an example of investment
speeding

VD5 AT, RE° A5 SR B @), Deyad PEYT DEY, DD
Potential real GDP is always greater than equilibrium real GDP
n0ogrds TPE GDP Nvdoey GDP 5ap) 255

Social security and welfare are examples of spending on infrastructure
PRIPES EE B000iw FAbRy BIOE HESraire PEYT SST BB

Which of the following would cause the aggregate demand curve to shift to the
right?

¢ 1508 73&° BADeD N GHured Etig HADPHHLD KK

(a)

(b)

(c)

(d)

An 1ncrease in purchases by the federal government
PESS |Sghisg SR8 Wod

An increase in real interest rates

TRDE DG Tend® IS

An appreciation of the American dollar
eaobEn Greb 2eud Do

A decrease in the money supply
AHE JBHorS” B
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98. An apreement enforceable at law 1s a

2.8 257080 HEg0 B5°60 JJPE) eDoen eibo

(a) Enforceable acceptance (b) Accepted offer
005 ﬁﬂ.}éﬂaﬂﬁ-@m eofEBoa% espb

(c) Approved promise (d) Contract
eS8 00R :H‘E::-n 2080

99. A proposal when accepted becomes

2.8 (B8 DDRBODIPE B

(a) Promise under section 2 (b) (b Agreement under section 2 (e)
2ES 2 (b) B5°80 TR0 W8S 2 Trgoe adyodo

() Contract under section 2 (h) (d) None.of the above
PES 2 (h) (Ss~o eoso P 2dsd

100. The demand for money will fall if:
tean §700 &80& & (808 SEHBOS” BrHBCY

(a) Real GDP rises
TE GDP 2835

(b} Real interest rates rise

T 9G Beowwd DBRDYPE

(¢) The GDY deflator rises
GDP s*68o(Deflator)28A% dde

(d) People expect deflation soon
Sesen Doed (38 |BS5eyr0 eB0dHED
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www.eenadupratibha.net





